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QSUMPN(i,k) = 1.0/
{0.75 % [maz(0.0, ps(i — 1,k))
+max(0.0, ps(i + 1, k))
+max (0.0, ps(i, k — 1))
+max(0.0, ps(i, k + 1))]
+0.25 % [max (0.0, ps(i — 2, k))
+maxz (0.0, ps(i + 2, k))
+max (0.0, ps(i, k — 2))
+max(0.0, ps(i, k + 2))]} (1)
DQFILL(i,k) = —min(0.0, ps(i, k))
+max(0.0, ps(i, k))
%{0.75 % [min(0.0, ps(i — 1,k)) * QSUMPN (i — 1, k)
+min(0.0, py(i + 1,k)) * QSUMPN (i + 1, k)
+min(0.0, ps(i,k — 1)) * QSUMPN (i, k — 1)
+min(0.0, ps(i, k + 1)) x QSUMPN (i, k + 1)]
+0.25 % [min(0.0, ps(i — 2,k)) * QSUMPN (i — 2, k)
+min(0.0, ps(i + 2, k)) * QSUMPN (i + 2, k)
+min(0.0, ps(i,k — 2)) * QSUMPN (i, k — 2)
+min(0.0, ps(i, k +2)) « QSUMPN (i, k + 2)]}
(2)
ps(i, k) = ps(i,k)+ DQFILL(i, k). (3)
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DQFILL(i,k)=0000.000 9000 DQFILL(,k)00O0000,

DQFILL(M —2,N) =

DQFILL(M —1,N) =

DQFILL(M,N) =

DQFILL(M +1,N) =

DQFILL(M +2,N) =

DQFILL(M,N —2) =

DQFILL(M,N —1) =

DQFILL(M,N +1) =

DQFILL(M,N +2) =

goo.od

QSUMPN (M, N)

0.25 % ps(M — 2, N)ps(M, N) * QSUMPN (M, N),
(4)
0.75 % ps(M — 1, N)ps(M, N) * QSUMPN (M, N),
)
_ps<M7 N)
(6)
0.75 % ps(M + 1, N)ps(M, N) * QSUMPN (M, N),
(7)
0.25 * py(M + 2, N)ps(M, N) x QSUM PN (M, N),
(8)
0.25 # py(M, N — 2)ps(M, N) * QSUMPN (M, N),
(9)
0.75 * ps(M, N — 1)ps(M, N) * QSUMPN (M, N),
(10)
0.75 * ps(M, N + 1)ps(M, N) * QSUMPN (M, N),
(11)
0.25 * py(M, N + 2)ps(M, N) * QSUMPN (M, N),
(12)

= {0.75 % [ps(M —1,N) + ps(M +1,N)
+ps(M,N = 1) + ps(M, N + 1)]
+0.25 % [ps(M — 2, N) + ps(M + 2, N)
+ps(M,N —2) + ps(M,N +2)]}7! (13)
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ZZM,/@) = ZZ [ps(i, k) + DQFILL(i, k)]
=zzwk

+DQFILL( —2,N)+ DQFILL(M — 1,N)

+DQFILL(M,N) + DQFILL(M + 1, N)

+DQFILL(M 4 2,N) + DQFILL(M, N — 2)

+DQFILL(M,N — 1)+ DQFILL(M,N + 1)
(

+DQFILL(M,N +2)
S 9 WA EVIE

+ps(M, N)* QSUMPN (M, N)

{0.75 % [ps(M — 1, N) + ps(M 4+ 1,N)
+ps(M, N 4+ 1) + ps(M, N + 1)]

+0.25 % [ps(M — 2, N) + ps(M + 2, N)
+ps(M,N +2) + ps(M,N + 2)]}

= ZZpszk ps(M, N)

+ps(M ,N)* QSUMPN (M,N) * QSUMPN(M,N)!

= D pslish) (14)
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